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B.A./B.Sc. (Part-II) Examination
Operating System
ST faen)
Paper : CS-04/1T-04

Time : 3 Hours | [ Maximum Marks : 55

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

et - o wwA-um ‘e, ‘IR ‘R i el B fawfsa ®
Yo% ©UE & FRITgER 9eAi & IW S

Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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1. (1) Write the difference between Process and
Program.
oY iR R § e fafe |
(ii)) What are Turnaround Time and Response
Time ?
wfaadT w99 @R wfafwanr wma Fm ¥ 2
(i11) Give two reasons of Process Termination.
g guid & & SR SIS |
(iv) What is the purpose of System Calls ?
fowen ®ia &1 S ;¥ ?
(v) Why operating systems use Process Control
Block (PCB) ?
SArRfe faeen 98w waa =adrw (PCB) &1 37
i FW T ?
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(vi) Define Kernel with suitable example 3. Differentiate between the purpose of using Cache

FHIT F ST SO W wRef wif Memory and Virtual Memory.
HI TER 3R TSI HEK % IUEN & S b o™

<R I |

4. What is Deadlock ? What are the necessary

(vii) Define Page Fault.
TS wice sl ARt ifsa

Section-B 4x6=24
conditions for the deadlock ?

Short Answer Type Questions .
( ype Q ) el 1 T ? el B fAu sEvasd wd o € 2

Note -— Answer any four questions. Each answer should not _ _
5. Explain the difference between Internal and

exceed 200 words. Each question carries 6 marks. :
External Fragmentation.

s - ek R ol faes & = 3R T i |
(Y ST TT) 6. What do you mean by Page Replacement
fder .- f=l = wvAl & s WU o T S oW Algorithm ? Why are page replacement algorithms
sifesrad 200 Gl # UREfRd wifSTl g 9ee used ?
6 3T H T T i woriiftem 9 o9 #1 &9ea § 2 O
2. Briefly explain the various services that are iz TeRe™ &1 YA &= fhan S § 2
provided by Operating System. 7. What is a Thread ? Differentiate between Process
AR faen g0 9eM &t S arelt fafu=r densit = and Thread.
HET H IR JSH FN T ? THE IR IsH & o™ TR Ry |
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. Explain the various states of the process using

suitable diagram.
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. What is Resource Allocation Graph ? How is it

useful to detect deadlock in Operating Systems ?

M 3Teed WTh o= § 7 e faeen § Seaih

T YA I RS TR ST % ?

Section—-C 2x12=24

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 12 marks.
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10. What is Race Condition ? Explain critical section
problem. How are semaphores used for solving

critical section problem ?

31 o1 feufa == § 2 forfosrer YoM ise™ o1 THEAET )
forferer TR Wise™ &l Ticd L & ot YRR &1
TRA HY TR S § 2

11. Explain any four Page Replacement Algorithms.
With the help of an example explain Belady’s
Anomaly.
el =R T Wiy ToiRem & Sme S
T 3TN 1 eI § Sernet &t faamfa w1 g9

12. What are the benefits of Threads ? Explain context
switching of processes and threads.
Jem & N BER ¥ 2 U9 SR dem  wieww
fafem =1 T9mETl

13. Consider the following set of process with the
arrival time and CPU burst time given in

milliseconds
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PID | Arrival Time | Burst Time
1 1 7
2 3 3
3 6 2
4 7 10
5 9 8

Determine the average waiting time and average
turnaround time for these processes with the
preemptive shortest job first scheduling.
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